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PA. MaximumSubarray

o A : https://www.acmicpc.net/problem/10211

e Al=4 : 125

o JEFL : 56 (44.8%)

o Z AHA} : RiKang @124 CH (RiKang, O] 5 A)
(2m 42s)

e =4 : myungwoo (HES)

o == : Greedy + Implementation
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PA. MaximumSubarray

for (int i=1;i<=N;i++){

s += X[1i];
if (m < s) m = s;
if (s < @) s = 0;
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PB. Mystery

o Al : https://www.acmicpc.net/problem/10212

o JE S :38 (4.9%)
o 2 ZHEA} :0YES @SHALH (hj_929, O[3 A])
(44m 34s)

o =4 : kriii (HE2)

e == : Ad-hoc
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PB. Mystery

2) puts(((int)(&a)>>20)%27?"Yonsei”:”"Korea”);

3) fopenO| AtE7s0tB 2 AA5| A7

ojn
on
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PC. XhCompany

o A : https://www.acmicpc.net/problem/10213

o A= ;104

o AU 1 8 (7.692%)

o A ZHA} :cki86201 @AM 2111 (cki86201, BFal4e)
(20m 24s)

o =4 : kem1700 (&4 ZH2I)

e == : Convex-Hull
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PC. XhCompany

(1,A[1])
(2,A[1]+A[2])
(3,A[1]+A[2]+A[3])

(N,A[1]+A[2]+...+A[N])
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A. Baseball

o Al : https://www.acmicpc.net/problem/10214

o A& 112

o ZCTHA . 88 (78.6%)

o A AEZ} : HisPSPartner @KAIST (etaehyun4, O|Ef3d)
(1m 4s)

o =4 : xhae (F3=

e =5 : Implementation, Ad-hoc
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A. Baseball

Solution 1

for (int 1 = 0; 1 < 9; i++){
cin >> score[@] >> score[l];
yonsei += score[0];
korea += score[l];

if (yonsei > korea) cout << "Yonsei\n";
else if (korea > yonsei) cout << "Korea\n";
else cout << "Draw\n";
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A. Baseball

Solution 2

while (T--) cout << "Yonsei\n";
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F. MeatsOnTheGrill

o Al : https://www.acmicpc.net/problem/10219

o AlE&4 177
o AEFA . 49 (63.6%)
o Z ZELZ} : hydrogen @ AM-2CH (csehydrogen, 25| &)

(19m 57s)

o =A| : kriii (42
e =5 : Implementation, Ad-hoc
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F. MeatsOnTheGrill
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C. CountCircleGroups

o Al : https://www.acmicpc.net/problem/10216

o T4 : 60 (16.8%)
o A ZHZA} :RiKang @12{CY (RiKang, 0| &5 AH)
(7m 475s)

o =4 : xhae (FASZ

e =5 : Geometry+ Graph
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C. CountCircleGroups

1. if dist(i, j) <= r[i] + r[j]: Connected!
2. Build graph from fact 1.

3. Graph travel(BFS, DFS, ...) to count
the number of groups

Coder’s High 2014 offf A& IzjAlE|o|M



o A : https://www.acmicpc.net/problem/10218

o« Al=4 : 92

o T4 : 30 (32.6%)

o I HHA}: pps789 @AM SLH (pps789, B )
(51m 50s)

e =A| : kkm1700 (4zZH3I)

o =5 : Perfect search + implementation
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Solution 1.

PS5 BE ME| B2 BFSE 4
2l < 100122, 2|0} 410 o] 37| Ea3icy

tip. EHE 2(102x(102)2 encodedt ! S5 HAE SHH 24 2T}

Solution 2.
2 AHZESHEH O 214 s = 0| 90 & HISk 0| =0t
A|EoHE 12|17t QoD 2 210 EFARDE S &= E|C}

AMZIEEE: O(2IEIN?)
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G.SelfRepresentingSeq

=A| : https://www.acmicpc.net/problem/10220

JEESP

ZCHA . 26 (59.1%)

A AU} ainta @ A= 2F 10 (ainta, £ 9)
(56m 24s)

A : kriii (48
== : Ad-hoc
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G.SelfRepresentingSeq

if (N<=3 || N==6) A = 0;
else if (N == 4) A = 2;
else A = 1;
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D. KCMTravel

o Al : https://www.acmicpc.net/problem/10217
o x-”%—/l\— 216
o AU 41 47 (21.8%)

o  HHZA} : RiKang @124l (RiKang, O|-5AH)
(75m 325s)

e =4| : xhae (3=
e = : Dynamic Programming
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D. KCMTravel

« Dynamic Programming=+< Dijkstra

« DIi][j] =i O27tA| 0| =3, O| = H|E0]| j&
M 2|CkA|ZE

 Dijkstra H|==&t

o A|ZHEZZ: O(M(N+K))
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B. ColoredBeadWorks

o A : https://www.acmicpc.net/problem/10215
© X‘”%—f— 57
o JEF 1 4 (16.7%)
ZEFZL 2 Let Me Win @ A2 CH (corea, &3 M)
(144m 26s)

o =4| : altertain (O|EH&)

e = : Dynamic Programming
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B. ColoredBeadWorks

SEf2H ST E,G WS 0,122 HHR & Uiz
Sof\sot AR O = LIEMH 24 0|05t 313

D[i][j] = itH R actionZ77} R| ZIH3MHZ Y, FE{7tj7 =
2=

S Ef= 3116 =430467217 X7} 7tsotB =
map<int, double>D[N]; = O|&Zol{Of o}tLC}.

LIHA|="1'g” 7+o1 = Al :) OFt Al Tt

Coder’s High 2014 offf A& IzjAlE|o|M



|. TonsOfDamage

o A : https://www.acmicpc.net/problem/10222
o« A= : 62
o JEIL : 4 (6.5%)
o & AEHAl: Doju @M Z2LH (doju, A=A
(144m 26s)

o =4 : kriii (H4E2
=2

e 5 : Math —Linearity of Expectation
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|. TonsOfDamage

ad[i] = 3298 &d 20t i 8IS I, 345 9| 7[Thgk
ap[i] = =4 od 2015 H 2= M, F=H2| 7|CH4k
D[i][j] = ==7|= IH AtEA| S4H &d 20t B 22 &=
AotAl = Ot &L
2 -adli]| - adt + (ad|i| + 1) - ad
adfi + 1] = li] (ad[i] + 1) - adp
adt + adp
. 2 - apli] - apt + (apli] + 1) - app
apli+ 1] =
apt + app
(apt + app) - D[i — 1][j] + (adt + adp) - D[i — 1][j — 1]

D[il[i] =

N
cre Y ) DIilljl-adlj] -apli - ]
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J. Fertilizing

o Al : https://www.acmicpc.net/problem/10223

e A= 36

o JEIL : 2 (5.6%)

o X ZHEZ} :Let Me Win @A Z2LH (corea, = Ad)
(244m 015s)

o =A : kriii (HE2

e = : Greedy +Segment tree
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J. Fertilizing

HleS F= 8= el oftt 23 &+ U= At

A R A T ER
tE 2 SHFL 7 42 SLHFE| 27|70 60| L

C
o
M

in

HA Al i+1RA S0 &= O
T 0S| FLIFOAH 2717t i+1A2t= H| =& &L
C

f=)
& AU SUF/ e 7Y E SUHREHE =
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H. TestDataAnalysis

o A : https://www.acmicpc.net/problem/10221

) X‘”%—f— 15

o AEFL 2 (13.3%)

o A AEZ}L :RiKang @1 24CH (RiKang, O| < AH)
(70m 43s)

o =4 : kriii (H4E2
=2

e - : Dynamic Programming
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H. TestDataAnalysis

e Maximum Subarray 24|& L=t

for (int i=1;i<=N;i++){
s += X[1i];
if (m < s) m = s;
if (s < @) s = 0;

o 0|5 0|&Fct7tE EHAQICIO[LIE F 9

Dims = Xi7tA| 1121 = W Z|SHELZ m, AR S] Z|CH &2 s

o =& UlAlg, #oll= MA&0]=r 2 FLC
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H. TestDataAnalysis

o (dO|otQ AS29| 7i%) - (d-10]| 512l AZ9| 7H%)

o 1 olH NAGOU A= YA
ST 37 7l L L
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o A : https://www.acmicpc.net/problem/10224

o« A= 32

o AEL 1 (3.1%)

o A AER} :pichulia@112CY (pichulia, =2&7|)
(119m 55s)

e =4| : xhae (3=
e - : Geometry

Coder’s High 2014 offf A& IzjAlE|o|M



Coder’s High 2014 offf A& IzjAlE|o|M



ial Thanks to

Spec

=

23

EH
=]

=0
11O
4
i
o
N
-
.20
I
(%]
R
Q
©
(@)
@)




Coder’s High 2014

AN L CHIN

See you on Coder’s High 2015
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